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2. Points P and Q are located on the grid 
as shown. 

What is the slope of the line that goes through
points P and Q?

A. –

B. –

C.

D.

10345; 8M0000AAJXL1687D
FT Form L SP06 (15)
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3. The five numbered cards are mixed up 
and placed face down. One card is 
selected at random.

What is the probability that the card will 
be a four or a seven?

A.

B.

C.

D.

468; 8M0000DXJXL0627A
FT Form B OC04 (18)
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Item 4 has not been slated for public release in 2010.
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5. Amy designed a glass pyramid for a museum
courtyard. Each side of the square base is 
10 feet long. Each of the 4 triangular faces
has a height of 10 feet. 

How much glass will be used to construct the
base and the triangular faces?

A. 200 square feet

B. 300 square feet

C. 400 square feet

D. 500 square feet

12421; 8M0000MXBXM1882B
FT Form G SP08 (18)

6. In your Answer Document, show the steps
needed to solve the inequality –3x + 7 < 28
and graph the solution on a number line.

5632; 8M0000AEFXM1474S
FT Form L SP05 (21)

For question 6,
respond completely
in your Answer
Document. (2 points)
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10. Which equation represents a linear function?

A. y = 5x2

B. y = + 6

C. y = 2x + 4

D. y = x3

9535; 8M0000AXBXL1601C
FT Form F SP07 (25)
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Items 7–9 have not been slated for public release
in 2010.
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For question 11,
respond completely
in your Answer
Document. (2 points)

11. The number of points a football team scored
in its first eight games are shown.

The team scored 48 points in the ninth game.

In your Answer Document, determine which
measure of center (the mean, the median 
or the mode) will change the most after the
team’s ninth game is added to the list. 
Show your work or explain your reasoning for
selecting that measure of center.

16727; 8M0000DXCXL2711S
FT Form E SP09 (21)
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14. A scientist measured some bacterial cells. 
The average diameter of the cells was
0.0000032 millimeters. 

What is this measurement written in 
scientific notation?

A. 3.2 × 10–7 millimeters

B. 3.2 × 10-6 millimeters

C. 3.2 × 106 millimeters

D. 3.2 × 107 millimeters

92; 8M0000NXAXL0423B
FT Form C OC04 (44)

Items 12–13 have not been slated for public release
in 2010.

Items 15 –16 have not been slated for public release
in 2010.
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17. A middle school wants to assign 3-letter
identification codes to all of its students.

There are 26 letters in the alphabet.

• Letters can be used more than once.
• Letters Q, X and Z will not be used. 
• Identification codes will not start with the

letters I or O.

How many different identification codes 
are possible?

A. 9,261

B. 11,109

C. 12,167

D. 17,576

12550; 8M0000DXHXM2007B
FT Form F SP07 (27)

Items 18–21 have not been slated for public release
in 2010.
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For question 31,
respond completely
in your Answer
Document. (2 points)

31. A company plans to store boxes that
measure 3 feet × 2 feet × 1.5 feet in a 
storage space that is 25 feet long, 
10 feet wide and 12 feet high.

In your Answer Document, determine the
maximum number of boxes that can be
stored in the storage space. Show the
mathematics you used to find the number 
of boxes.

12418; 8M0000MAAXH1880S
FT Form A SP08 (16)

On the Spring 2010 Grade 8 Mathematics
Achievement Assessment, items 22–27 are field-test

items, which are not released.

Items 28–30 have not been slated for public release
in 2010.
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32. The histogram shows information about scores
of the games played by the Jaguars
basketball team during one season.

In how many games did the Jaguars score at
least 65 points?

A. 4

B. 7

C. 15

D. 22

10339; 8M0000DXAXL1682D
FT Form H SP06 (14)
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33. Carol is designing a kite on a 
coordinate plane.

Which ordered pair is located on the kite’s
line of symmetry?

A. (–4, 3)

B. (–2, 4)

C. (0, 0)

D. (0, 3)

8313; 8M0000GXDXL1535B
FT Form J SP06 (15)
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Item 34 has not been slated for public release in 2010.
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35. The table shows the number of games played and 
the number of games won by four sports teams 
at a middle school. None of the sports teams 
had a tie game during the season.

Which sports team had the lowest loss-to-win ratio?

A. basketball 

B. football

C. golf

D. softball

3506; 8M0000NXGXM1104D
FT Form E SP09 (17)
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36. The equation of a line is y = 2x + 1. 

In your Answer Document, graph this line and
give the coordinates of two points on the line.

872; 8M0000AECXM0343S
FT Form J SP05 (21)

For question 36, respond
completely in your Answer
Document. (2 points)
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40. Triangle PQR and line segment AC are shown. 

Which ordered pair for a point B will create a
triangle ABC that is similar to triangle PQR? 

A. (–3, –1) 

B. (–3, 0) 

C. (–3, 5) 

D. (–1, –3)  

8286; 8M0000GXDBM1524A
FT Form E SP06 (15)
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Items 37–39 have not been slated for public release
in 2010.
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41. An expression is shown.

What is the value of the expression?

A. 17

B. 18.75

C. 21

D. 115

15812; 8M0000NXIXL2644A
FT Form C SP09 (17)

42. A square is drawn on a coordinate plane. 

Which transformation would change the
perimeter of the square?

A. a translation of 2 units down 

B. a reflection across the x-axis

C. a dilation with a scale factor of 2

D. a 90° clockwise rotation about the origin

17098; 8M0000GXFXL2763C
FT Form C SP09 (19)
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43. The list shows the number of runs scored by 
a softball team for games played in April 
and May.

Runs Scored

April
0, 1, 5, 2, 0, 7, 1, 3

May
3, 8, 4, 1, 4, 9, 2

Which statement about these data is true?

A. The mean number of runs was greater in
May than in April.

B. The median number of runs was greater
in April than in May.

C. The mode of the number of runs in May
was less than in April.

D. The range of the number of runs was
greater in April than in May.

15913; 8M0000DXDXM2705A
FT Form G SP08 (15)
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44. The Smoothie Hut sells smoothies in cones and
cups that are filled exactly to the top. 

The cups and cones have the same diameter
and height.  

How much more does the cup hold than 
the cone? 

A. more

B. more

C. 2 times more 

D. 3 times more 

8268; 8M0000MXBXL1522D
FT Form I SP06 (10)
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